Leaves Knit Pattern

di| B |3 |37 |35 |34 B3 |30 D |22 |28 |37 ]| X |35 14|83 2|2| Djigf|is|Flte|is|i4) B |L2Jil|D|2 8T |6 |54 ]3 |2 ]L
"t e e e et e ey e 00— ———— — - —
—0LD oA 0 ; = —0OA N ]
0/ NO- 7 NO= =S —0/ NO——F—0/ NO-=-[
== = =G = =g=
=20 ~NO e NOL=——00 ™\ v ~NOWL =2
=07 NO=—0V “NOH|=
— 2 ole’ ol e] A= o O oo A==
— 1O O O O A——- - O[O O 1O K——[=
Ao O OlAl— - — rNe e OLA— ==

- i i i i e e e = —=
- e 1 v e = [ = =
orNe P —OlLK — —OA0 —t——— 0L —[=

o = glg = = olg——— —
T NOFELAZE]=0] NO=— O/ MNO=lLd=~ =0/ NO=—|=

- Sz g == Sri==5 ==
=0, ~NOL DO ~NO==0l” O L0 ~O=[=
— G r [ \G 4 |5
| [ OO [ A | 1Ol O | FH | O [ & LA | 1O O | Ha
— O O K — 1O O FH Ol O] £ —b O] O] Hs
Semer X0 _O==0 OX- ===»0_O—s
_ﬂliiiglnuzimlliizunlzznmggliihuunn'n:'.r 5:432|_I

Cast on 40 stitches + 2 selv sts and work according to chart.
RS rows and WS rows are shown.
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Read RS rows from right to left, WS rows from left to right.

Work the sts as they are shown with RS of work facing.

Row 1 (rs): p18, t2b, t2f, p18

Row 2 (ws): k18, p1 tbl, k2, p1 tbl, k18

Row 3 (rs): p1, yo, k1, yo, K3tog_tbl, p10, k3tog, yo, k1, yo, p2, yo, k1, yo, K3tog_tbl, p10, k3tog, yo,
k1, yo, p1

Row 4 (ws): k1, p4, k10, p4, k2, p4, k10, p4, k1

Row 5 (rs): p1, k1, yo, k1, yo, k1, K3tog_tbl, p6, k3tog, k1, yo, k1, yo, k1, p2, k1, yo, k1, yo, k1,
K3tog_tbl, p6, k3tog, k1, yo, k1, yo, k1, p1

Row 6 (ws): k1, p6, k6, p6, k2, p6, k6, p6, k1

Row 7 (rs): p1, k2, yo, k1, yo, k2, K3tog_tbl, p2, k3tog, k1, yo, k2, yo, k2, p2, k2, yo, k1, yo, k2,
K3tog_tbl, p2, k3tog, k2, yo, k1, yo, k2, p1

Row 8 (ws): k1, p8, k2, p8, k2, p8, k2, p8, k1

Row 9 (rs): p1, k6, k2tog, yo, p2, yo, ssk, k6, p2, k6, k2tog, yo, p2, yo, ssk, k6, p1

Row 10 (ws): k1, p8, k2, p8, k2, p8, k2, p8, k1

Row 11 (rs): p1, yo, ssk, k3, k2tog, yo, k1 tbl, p2, k1 tbl, yo, ssk, k3, k2tog, yo, p2, yo, ssk, k3, k2tog,
yo, k1 tbl, p2, k1 tbl, yo, ssk, k3, k2tog, yo, p1

Row 12 (ws): k2, p5, k1, p1 tbl, k2, p1 tbl, k1, p5, k4, p5, k1, p1 tbl, k2, p1 tbl, k1, p5, k2

Row 13 (rs): p2, yo, ssk, k1, k2tog, yo, p1, t2f, 2b, p1, yo, ssk, k1, k2tog, yo, p4, yo, ssk, k1, k2tog,
yo, p1, t2f, t2b, p1, yo, ssk, k1, k2tog, yo, p2

Row 14 (ws): k3, p3, k3, p1 tbl2, k3, p3, k6, p3, k3, p1 tbl2, k3, p3, k3

Row 15 (rs): p3, yo, k3tog, yo, p3, t2fktbl, p3, yo, K3tog_tbl, yo, p6, yo, k3tog, yo, p3, t2fktbl, p3, yo,
K3tog_tbl, yo, p3

Row 16 (ws): k9, p1 tbl2, k18, p1 tbl2, k9

Row 17 (rs): p8, t2b, t2f, p16, t2b, t2f, p8

Row 18 (ws): k8, p1 tbl, k2, p1 tbl, k16, p1 tbl, k2, p1 tbl, k8

Row 19 (rs): p5, k3tog, yo, k1, yo, p2, yo, k1, yo, K3tog_tbl, p10, k3tog, yo, k1, yo, p2, yo, k1, yo,
K3tog_tbl, p5

Row 20 (ws): k5, p4, k2, p4, k10, p4, k2, p4, k5

Row 21 (rs): p3, k3tog, k1, yo, k1, yo, k1, p2, k1, yo, k1, yo, k1, K3tog_tbl, p6, k3tog, k1, yo, k1, yo,
k1, p2, k1, yo, k1, yo, k1, K3tog_tbl, p3

Row 22 (ws): k3, p6, k2, p6, k6, p6, k2, p6, k3

Row 23 (rs): p1, k3tog, k2, yo, k1, yo, k2, p2, k2, yo, k1, yo, k2, K3tog_tbl, p2, k3tog, k2, yo, k1, yo,
k2, p2, k2, yo, k1, yo, k2, K3tog_tbl, p1

Row 24 (ws): k1, p8, k2, p8, k2, p8, k2, p8, k1

Row 25 (rs): p1, yo, ssk, k6, p2, k6, k2tog, yo, p2, yo, ssk, k6, p2, k6, k2tog, yo, p1

Row 26 (ws): k2, p7, k2, p8, k2, p8, k2, p7, k2

Row 27 (rs): p1, k1 tbl, yo, ssk, k3, k2tog, yo, p2, yo, ssk, k3, k2tog, yo, k1 tbl, p2, k1 tbl, yo, ssk, k3,
k2tog, yo, p2, yo, ssk, k3, k2tog, yo, k1 tbl, p1

Row 28 (ws): k1, p1 tbl, k1, p5, k4, p5, k1, p1 tbl, k2, p1 tbl, k1, p5, k4, p5, k1, p1 tbl, k1

Row 29 (rs): p3, yo, ssk, k1, k2tog, yo, p4, yo, ssk, k1, k2tog, yo, p1, t2f, t2b, p1, yo, ssk, k1, k2tog,
yo, p4, yo, ssk, k1, k2tog, yo, p3

Row 30 (ws): k4, p3, k6, p3, k3, p1 tbl2, k3, p3, k6, p3, k4

Row 31 (rs): p4, yo, K3tog_tbl, yo, p6, yo, k3tog, yo, p3, t2bktbl, p3, yo, K3tog_tbl, yo, p6, yo, k3tog,
yo, p4

Row 32 (ws): k19, p1 thl2, k19

knitchart.com

Page 2 of 3



Key

(RS} Knit 2 stitches together
('WS) Purl 2 Together

knik Slip Slip Knit

k. \ agk,
(RS Knik (RS} slip, slip, knit slipped sts together
(WS) Purl ("' slip, slip, purl slipped sts together
[0 |k thi Twiist Z Back

k1 th = ltzb
(RS K1 thl ([R5} Cross 2nd st in Fronk over 1st sk, k1 kbl pl
(W3 PL kbl W3 Cross 2nd stin front of 1st sk, k1, p1 thl
/ knit 2 Together Twist Back Kz thl

kZtog Ezbkkbl

(RS} Cross Z2nd st in back of 1 st, k2 thi
("WS) Crass 2nd sk in back of 1 sk, k2 thl

A knit 3 Together
k3kog

(R9) Knit 3 skitches together
(WS) Purl 3 Together

Twisk 2 Fronk
= kzf

(RS} Cross 1sk in Fronk over 2nd sk, pl, k1 kBl
("W'S] Cross 1skin front of 2nd st, pl kbl ki

h\ knit 3 together kbl
k3kog_tbl

(R3) slip 1 sk, kZtog, pass slipped stitch over
W30 slip 1 sk, kZtog, pass slipped stitch over

Twvist Front K2 thi
E2fkebl

([R5} Cross 2nd st in Fronk of 1st, k2 thi
(W3 Cross 2nd skin front of 1sk, k2 tbl

| P
]

(RS} Purl
(WS Knit

.I Yarn Ower
fu]

(RS Yarn Ower
(W'S] Yarn Ower
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